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Abstract

The Sound Field Reproduction System in Consideration of

Movement of Listeners

Daisuke YAMASHITA

The trial which creates the world of a virtual reality is performed with progress of
digital signal processing. Even an acoustic field, Various researches have progressed for
the purpose of reproducing the sound field near a desired sound field as much as possible.
With the technology studied so far, in order to reproduce a sound field centering on
specific listening area, if listener moves, there is a problem that sound image will change.
In this research, inquires the system which is even if listeners move in the inside of the
room, it is not influenced of the room transfer characteristic by investigating the room
transfer characteristic of each listening area beforehand. And the construction of a
sound field reproduction system which can also cope with change of the room transfer
characteristic which happens when listeners change a posture is aimed at. This paper
shows validity from the simulation result of the sound field reproduction system in

consideration of movement of listeners.

key words FIR Digital Filter, NLMS Algorithm, Room Transfer Characteristic ,

Sound Field Reproduction System
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